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A loie s perpenchicuiar oo plane ata poal B and
onlv b s perpendicalar o every fe nihe plane that
pu..\..\c\ throuch A Thus we can assunie _ACD and _ACS
are reht angles. Theretore AC must be fess than any ot the
\c:m;m.\ m the fieure since 1t s ahwavs wonide of aindi
:lé that s oppesite i lesseranale ot the triangle Ccm:nll!}“
i\E < BE wince the angle opposite B 0 DAL A Lo
while the angic opposite AL s onhy 207 But what ot AB
and A0 in L,—\b’[). A8 s opposite the greater wngle
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TEST-TAKING TIP &r * 3 4
Look back at the tormat of this question. Some
descriptive informanon s given. Three statements,
cach destgnated by o Roman numeral are wiven,
You must decide which must be true There are
really erght difterent vutcomes or combmanons of
possible outcomes [only: {fonly. {tTonlyv: Land [1;
Cand UL T and UE UL and UL and none. The test
makers eliminate three posstbiinies and ask vou
which of the remaining Aive chowes s correct,
This format s used in several questions on each
Level [Cexam.
Occastonally. as n this case. the (ruth of one state-
ment guarantees the truth of another. Because all
ot the pownts lie on the same line {statement [I).
they all lie in the same plane (statement [ID. Also,
the truth of one statement may guarantee the fal-
sity of another. Because the points [ie on the same
line, lines connecting them n pairs cannot be par-
allel as required by statement [. Test makers pre-
fer, however, not to give you these “two for one”
opportunities. As much as possible, they construct
statements that are independent of each other.
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Ques. /| TEST-TAKING TIP

When a figure is “not drawn © scale,” it can be
misleading. ZAOB is given to be a right angle but
is acute in the diagram. When figures are not drawp
to scale, it can be helpful to redraw them. 10 avoud

making incorrect inferences.

i3 TEST-TAKING TIP

At first the figure seems (0 make 0o sense. The
right angles don’t |ook like right angles. Theretore.
you may suspect thatut s notdrawn o sc_ale or rep-
;esents an impossible siwaton. When you view the
diagram as 2 three-dimensional hgure?, howevef. l.t
does depict a real suuaton. When a hgure doe>n~t
seem to make sense, be sure 10 constder the pos-
siility i represents three dimensions. Note t.h;?t ot
the Agure were two-dimensional, the (wo adjauznt
nght angles would make 80C a straight fine and
would have o conncide with the dotted line 8C
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C The statement is false only when (p V @) is
true and p is false. If p is false, (p V g) is true only
when g is true.

C The statement “q is necessary for p” is equiva-
lent to “p ts sufficient for ¢ (I) and “p only is g¢”
(1), but not g implies p** (I1D).

B The negation of “if p, then ¢"" is “p and not q.”

E Counterexamples of each answer can be
found.

B Since “some smarties do not smoke cigars”
and “all men smoke cigars,” a necessary conclu-
sion is “some smarties are not men.”

C The statement“p’, only if ¢’ " is equivalent to
“if p’, then ¢’.” which is equivalent to its contra-

positive, “if ¢, then p.”

D By definition the contrapositive is g — p’.
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A key to successful problem-solving 1s the abul-
ity to apply familiar principies to unfamibar siu-
auons. This question mayv be unlike any vou ever
attempted 1n a geometry class. Yet s solution
uses: (1) a basic property, the triangle inequality
reviewed earlier in this chapter, and {2) a standard
diagrammatic technique. the introduction of auxil-
iary line segments.

You think this is a question about pentagons. bul it is
really about triangles. Draw a pentagon roughly in pro-
portion to the given information and then draw one of its
diagonals. Each diagonal forms a triangle with two sides-




